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C11A1' i'f.R 1 I Functions a nd Their Graphs 

In 1,:-,rl'i>''' 'I :incl HI. which sci.< of ordered pairs 

rcprcS<·nt funr tion(s) frn,n ,1 to JI'! Ewlain. 

9. A = {0, 1.2, 3} and /J = {-2. - 1. 0. 1.21 

(a) 1(0. I ). ( I. - 2). (2. 0). (3. 2)} 

(b) l(0, - 1),(2.2).( 1, - 2).(3.0).(1. 1)) 

(cl I (0, 0). ! I. 0). (2. 0). (3. OI I 
(d) 1(0. 2). (3. 0). ( I. I)} 

IO. A = \a.b. c) andli = {0.1.2.3) 

(a) {(a. 1). (c. 2). (c. 3). (/,. 3)) 

(b) { (a. I ). (h. 2). (c. 3)} 

(c) {( I , a), (0. a), (2. c). (3, b) ) 

(di { (c, 0). (b. 0). (a. 3)) 

\\ 
) 

\' I 

Cirrnlatio11 af ,\'ewspaper.< In Exercise, 11 and 12. 
usl' the graph. "hich sho,\ !!I th<' circulation (i n mil­
lions) nf dail) ncw, papcrs in the Unit ed S tat es. 

(Sollfo,:: l .,hHH ll.:. Puhl1,hl'r Comp;m)) 
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11. Is lhc circulation of morning ne\\spaper, a function 
of the year? 1, the circulation of evening newspapers 

1 a function of the year? Explain. 

· '... _... 12. Let J(x) represent the circulation of evening news-
-~~ papers in year x. Find/(1988). 

In Exercises 13-22, det ermine if the equation repre­
sents y as a function of x. 

14, X = )'2 

16. X + y 2 = 4 

17, 2x-'- 3y = 4 

19. _r 2 = x2 
- I 

21. y = 14 - ,1 

18. (x - 2)2 + y' "
4 

20. )' = rx+s 
22. IYI = 4 - x 

In E,ercise, 23 and 24. fill in the hlanks usin t 
ified fun('tion and the given values of the in~e hesPtt. 
",riahlr. i>end1111 

I 
2.1. J(s) = ·' + I 

(3) /(4) = ( 

(b) J(O) = ( 

I 

) + 
I 

f+ , 
I 

(C) J(4x) = r 7 +I 
I 

(cl) f(x -'- c) = l ) + 

24. g(x) = x2 - 2x ) ( 

(3) g(2) = ( 
(b) g(-3) = ( 

(c) g(1 + I)= ( 

(di g(, + c) = ( 

)' - 2( 
)' - 2( 

)' - 2( 
)' - 2( 

) 
) 

) 
) 

In Exercises 25-36, evaluate the function 31 the sp«> 
lied \'alues of the independent variable and sionplify. 

25. J(x) = 2x - 3 

(a) J(I) (b) J(-3) 

26. g(y) = 7 - 3y 

(a) 11(0) (b) g(i} 
27. h(1) = r2 - 2r 

(a) h(2) (b ) 1,( 1.5) 

28. V(r) = ; rrr3 

(a) V(3) (b) vm 
29. f( y) = 3 - ../y 

(a) /(4) (b) J(0.25) 

30. J (x) = JxTI + 2 

(a) J(-8) (b) J( I ) 

(c) f(x - I) 

(c) g(s + 2) 

(c) h(x + 2) 

(c) V(2r) 

(c) J(4x2
) 

(c) J (x - 8) 

_11. q(.d"" ,, - 9 

ral q(O) (b) q(3) 

2,' + 3 

.1l. q(r)"' r ' 

(a) q(2) 

lxl 
_1.1. J(.r) "' ·x 

(al J(2) 

(b) q (O) 

(h) J( - 2) 

.U. J(d = lxl + 
4 

(a) /(2) (b) J (- 2) 

{
21 + I. X < 0 

_1; . f(.t) = 2x + 2. X 2 0 

1al J(- 1) (b) J(O ) 

_ {x' + 2. x S I 
!,6.f(.r) - 2r2 + 2. x > I 

(a) J( - 2) ( b) J( I ) 

(c) q(y + 3) 

(c) q(-x) 

(c) f(x - I) 

(c) J (x2
) 

(c) /(2) 

(c) / (2) 

In Exercises 37--H, complete lhe table. 

)7. fix) = x' - 3 

rx-7 - 2 

~ 
38. g(x) = ..Jx - 3 

IT37 
~ 

39. h(r) =i i'+ 31 

4 

- I 0 frj 
5 6 7 

~-

5

1 I I I = 
-4 I - 3 I -2 I - I j 

-3-) 5 I g 
. Is - 21 

' "''"~ : s - 2 

~ · 12 
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4 1. J(x) = {-!x + 4, xSO 
(x - 2)2. x>O 

/;(x) I 
-2' I -I I 0 E9 

42. h(x) = {9 - x'. x<3 

X - ), x23 

I : (x) I 

I I 2 l 3 I 4 

I 

5 I 
In Exercises 43- 46, find all reiirva@es of x such tha t 

J (x) = 0. 

4J . J(x) = 15 - 3x 

45. J(x) = x' - 9 

3x - 4 
+J. J(x) = - 5-

.M. f(x) = X 3 - X 

In Exercises 47- 50, find the value(s) of x for which 
J (x) = g(.r). . 

47. f(x) = x 2• g(x) = x + 2 

48. J(x) = x 2 + 2x + I. g(x) = 3x + 3 

49. J(x) = J3x + I. g(x) = x + I 

50. J(x) = x' - 2r2
• g(x) = 2r

2 

[n Exercises 51-60. find the domain of the function. 

5 1. J(x) = 5x1 + 2r - 1 

4 
53. h(t) = -

( 

55. g(y) = ./y- 10 

51. J(x)= ~ 

59. g(x) = .! - ~ ,\ ,\ + 2 

52. g(x) = I - 2 r2 

5-1. s( y ) =__2L 
y+ 5 

56. J(t) = y, + 4 

58. h(.r) = __ 1_0 _ 
x 2 - 2t 

60. J(s) = j_s - I 
s - 4 

, 


